Write each equation in logarithmic form,

=17? 3 = = 3¢ 1_ .0
6.49 =7 7. 10° = 1000 8.625 =3 0.4 = 5
2. _ (1)-2 3 _ _
10. 8% ~ 64 wa=037" n{@3P=% Bzl
Evaluate each legarithm.
14. log, 16 15. log4 2 16. logg 8 17. log, 8
18. iog, 8 19. logag 7 20. logs (—25) 2L logs 9
22, log, 2° . 23.logy 5 24. log 10,000 25. logs 125
Write each equation in exponential form.
53. logz 128 = 7 " 54. log 0.0001 = 4 55. log; 16,807 =
56. logg 6 = 1 57. logg 1 = 0 38. loga 5 = 2
59. Jogz 5 = —1 60. log 10 = 61. log, 8192 =
TN

Kind the inverse of each function.

63y =logyx 64,y =
66,y = log, 2x 67.y =
69. y = log(x — 2) LMy =

Graph mmor.mow»—.mgn function. 9& a's nwerse. . Zﬂ L@\(LD.N &oés Bw@m\ X ..m ¢
logg (2 + 3) hﬁgﬂﬁk ‘P_\_\J

Joga (x — 3) NDOB%«W.\.R O%%m ¥ m\m\mmw

72.y = log2x T3y =

Find the domain and the range of the grapk of each function.

75 y = logg x T6.y =
78y =1+ logx 7.y =
BLy=loggx—2 8.y
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50. Frrov Analysls Find the error in the following

~evaluation of log,; 3. Then evaluate the
“logarithm correctly,

logys3 =x
27 = &2
3=x
Jogy;3 =3

( Compele 0dds® -Gl

omplele. 0dds &cw(ﬂd

loggsx
log {x + 1)

logs x*

2 u.Omw x

3logx
log{x ~2)+1
= logy x ._.sw

. Match each function with its inverse.
= loglx b.y = loggsx Yy =

a.y
Ly =4% Hm.wumwul

6. y = logipx
68. y = log 10x
Ty

“

leg.3 -

T4, ¥

1.y =
80.y =logg(x + 1)
8Ly=log{x —1}

~loga x d.y = ~loglx
1hx - = 47
& V. y =47
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